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B.A./B.Sc. (Part-III) EXAMINATION, 2019
(10+2+3 Pattern) (Three-Year Scheme)
(Common for the Faculties of Arts and Science)

[Also Common with Subsidiary Paper of B.A./ B.Sc. (Hons.) Part-III]
ECONOMICS-II(a)

(Applications of Mathematics in Economics)

Time allowed : Three hours - Maximum marks:100 for Arts
75 for Science
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Part-A/¥FT-31
1.  Explain the following : 10x2=20
 fEfefed B TR 2R |
(1) Conditions for regular strictly quasi concave utility function.
Frafia qoieton st ST wer &1 w4 |
(i) Ordinary demand function.
[IER | B | |
(iii)) Income Elasticity.
I A '
(iv) Income and Leisure
. SR AWM .
(v) -~ Producer’s surplus
IGH i T=9d
(vi) Linearly Homogenzous Production Function.
s gaey SR Wl
(vi) Closed Model
o Hisd |
(viii) Top person consta:rit' sum game
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Hessian determinant

g arfore |
Hawkins-Simon conditions
BIeh~I-EIEHA B! T |
Part-B/9Fi-&
Write equilibrium conditions of perfect competitive firm.
quf gfEntt wH % foe wgem @1 wd fafaa  5x4=20

Write short run cost function for Cobb-Douglas Productions
Function.

FHia S IEH e & [ STeqehiet arma %o fafau |
Show the nature of commodities :

X,=60-3P +2P,and

X,=50-7P, - 10P,

et F) vt

X,=60-3P +2P, =

X,=50-7P - 10P,

Q =log (x* +y%)

2 32
show that Zx?“‘”g?' 0
AR Q =log \/(x? +y?)
. | Q. Q _,
g o o wifsu f® 3x2 oy*

Find the elasticity of substitution for Cobb-Douglas'Production
Functicn.
Fla-STOE ST Her § Fawryd i 9 Siferd |
Part-C/9™M-d

Section-I/@UE1
Show that indifference curve is convex to the origin.  8+12=20
TS f qoe 9% T fag & wfa S=a g g |
Find the optimum commodity purchase for a consumer whose
utility function and budget constraint are :

U= qlu.ifsqzozs and

100 =2g, +0.15q,
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EECAIRCE TN E
U= qioffsqzo.zs qd
100 = 2q, + 0.15q,

OR/39Fat
If U=F (x,, x,), then derive Slutsky equation. 20
I U=F (x,, X,), @ﬁwmwmﬁl
Section-1I/@vs-11
Distinguish between CES and Cobb-Douglas prodaction function.

1248=20
3 w9, (CES) 3 Fd e Iq9eT B § S i |
For a monopolist, the demand function is P = (6 — x)* and the
Marginal cost is 14 + x, find the consumer surplus.
TF TFHITE &1 T e P = (6 — ) 9 A A 14 +x, B, A
YRG! HY T4 I BISA |
OR/3Eqq

Derive the profit Maximizing first and second order conditions
for an entrepreneur. Give an economic interpretation of second
order condition in this context. 12+8=20

e et F e ey aferera it waw 9 fgda s =t wdl &1 g

HIf 139 Feol ¥ i w0 Y v & onifiens e =hifsidl |
What are the main properties of Cobb-Dougls production function?

Hie- T e Fe bt e ferdand 7 € 2

Section-ITI/GU=-II
Solve the following iinear programmmg problem with the heip of
simplex method : 20
Maximize : P =25x, + 20x,
Subject to : 6x, + 4x, <60
2x, +3x,< 30
X X, > 0

e Taf 1 Ferql @ T FiHT Tl 61 5 31d it

HiyehaH ®ifvd : P=25x, + 20x,

wfaay ; 6x; +4x,< 60
2x, + 3%, <30
X, xz:_;O
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OR/3Far
If technology matrix A and final demand vector F is given as :

03 05 02 100
A=|02 0 05| |40
0.1 03 0.1 50

(1) Compute gross output for each sector.
(11) Find inter-industry demand matrix.

afg qeftent Bfega A awr sfm A asR F 8 0 1644=20

03 0.5 02 100
A=[02 0 05| . 140
0.1 03 0.1 50
Tl
(i) Felh &3 < fAq wehet Seafss 1 or g it |
(i1) 3TR-32m T Afzew Femfed
The pay-off matrix of playerAis:
784
A=l472

The Find the pay-off matrix of player B if game is two person zero
sum o

faerst A =1 9-31f dfcaw .

784
A=l 72

& 0 flaare-B #1 ¥-3ifw Afzaa 70 S, af < =afe g am
a1
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